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Q1. The principle due to which circular patches of light is seen under a tree during day time, is
similar to that of image formation by a

e frgia & wror i & < o 9 F A9 T F Merwr 8 A 39T Sar 8, 38 s At e E
I BT 872

(a) concave lens / Tade &

(b) pinhole / =g

(c) photographic camera / ®IEUTIHS FHIT

(d) convex lens / 3T &

$1. Ans.(b)

Sol. A pinhole camera is a simple camera without a lens and with a single small aperture, effectively a
light-proof box with a small hole in one side. Light from a scene passes through this single point and
projects, an inverted image on the opposite side of the box. This is similar to that principle due to which
circular patches of light is seen under a tree during day time.

Q2. When a strong beam of light is passed through a colloidal solution, the light will

S U FHIATS(SIT THTTT & HIEAH T THT T T TS 1H T HT STt §, TV THTT 47T G-
(a) Be scattered / YehTeT T TR0 ZIRIT

(b) Pass unchanged / srafeafaa et STUsfy

(c) Be absorbed / staeToa g1 SATUS(T

(d) Be reflected / Wiatfefaa g1 StTusft

$2. Ans.(a)

Sol. When a beam of light is passed through a colloidal solution, then scattering of light is observed. This
is known as the Tyndall effect. This scattering of light illuminates the path of the beam in the colloidal
solution.

Q3. Mirage is an example of

AU (6 FT T I 57

(a) refraction of light only / & JehTeT #iT TaadT

(b) total internal, reflection of light only / %t ATqTH AT FAT THTT @ | I
EARIRICES Test Series

(c) refraction and total internal reflection of light / TTad« 3T T RRB ALP 20 18
T FA AT T(dtaa
(d) dispersion of light only / @< ST T HATH Stage-ll

$3. Ans.(c) (Physics & Maths)

Sol. The angle of incidence i is smaller than the angle of refraction r. 25 Total Tests
Total internal reflection occurs when the incident angle i is larger

v'10 Mocks for Part 'A'’
than the critical angle c. The path of light when a mirage happens Its [ EREVE S AP Tral: WIS EF Y P

formation is a result of the refraction and the total internal reflection RgllEEERTEER TR ETr N

of light in the air. (Physics & Maths)
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Q4. The phenomenon of light associated with the appearance of blue colour of the sky is

ATRTST F Aot ST it ST & [ TFTer Y AT F°t T FET ATAT R ?

(a) interference / ZTaHTor

(b) reflection / wfafaa

(c) refraction / raad=

(d) scattering / SHTST ThTOTH

S4. Ans.(d)

Sol. The phenomenon of light associated with the appearance of blue colour of the sky is scattering of
light.

The sky appears blue because in the sun light, the blue colour of light is scattered maximum and this
scattered blue light enters our eyes and therefore, the sky appears blue in appearance.

Q5. Lens in made up of

ECREL K IR RIS

(a) pyrex glass / ATS LT AT

(b) flint glass / f¥eie T8

(c) ordinary glass / "TETIT T8

(d) cobalt glass / FTaTee T8

$5. Ans.(b)

Sol. The Latin name for lentil is lens culinaris, and this is the origin of the modern word, "lens". In
addition to crown glass and flint glass, modern day lens makers use quartz crystals and acrylic plastic.
These materials may be used in combination.

Q6. The speed of light will be minimum while passing through-
e e a9 Sahrer W I Aaw gt @-

(a) Glass / &=

(b) Vacuum / e[

(c) Water / a1+t

(d) Air / =T

$6. Ans.(a)

Sol. Any of the object or material which has the highest refractive index has the minimum speed of light.
The glass has the highest refractive index among other like, vacuum, water and air.

Q7. Waves used for telecommunication are-

TEER % forg g e it a3 &1 SeT R Smar § -

(a) Visible light / 33 I=h12T

(b) Infrared / ToFRILE

(c) Ultraviolet / 9¥TaT=HT

(d) Microwave / ATS#T AT

S$7.Ans.(d)

Sol. The microwaves are high-frequency signals in the 300 MHz to 300 Ghz range. The signals can carry
thousands of channels at the same time, making it a very versatile communication system. Microwave is

often used for point-to-point telecommunications. Today microwave is employed by telecommunication
industry in the form of both terrestrial relays and satellite communication.
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Q8. Light from the Sun reaches Earth in about:

3 & YT TAT 92 fhaet QX § qg=ar g

(a) 2 minutes / &<

(b) 4 minutes / f=e

(c) 8 minutes / fA¥=

(d) 16 minutes / f&q=

$8. Ans.(c)

Sol. The sunlight takes about 500 second or 8.5 minutes to reach to the earth.

Q9. When light waves pass from air to glass the variable affected are-
ST TRTLT TE T §AT & FiT T TgaT (AT g af ___ TATAa 81 &-

(a) Wavelength, frequency and velocity / T, ST < a7

(b) Velocity and frequency / 3T 3fi¥ STI_{%I'

(c) Wavelength and frequency / @3Taed 3T 311_{%

(d) Wavelength and velocity / T3 T<eT ST a7

S9. Ans.(d)

Sol. When light passes from air to glass or one medium to another, then the frequency of the light
remains constant but wavelength and velocity are changed.

Q10. Which one of the following energy conversion takes place in carrying out the process of
photosynthesis?

TRTET FHTOT T TIHAT H QT FA A Feferiaa & § S a1 S Saa<or grar g2

(a) Light to chemical energy / &TeT & TTETATAE ol

(b) Light to thermal energy / YTl & qTHT o1

(c) Thermal to biochemical energy / TH & ST AT E FHolT

(d) Heat to kinetic energy / =tT & faefier Fert

$10. Ans.(a)

Sol. Photosynthesis is the process used by plants to convert light energy into chemical energy.
Photosynthesis can be represented by using following chemical equation.

6C0, + 6H,0 2% 0. H,,0, + 60,

Where C0, = Carbon dioxide

H,0 = Water
CeHy20, = Glucose Adda 247
0 = Oxygen @ ‘ Test Series

Q11. A bird sitting on a high tension electric wire does not get
electrocuted, because

T grece faorell & q1< UX & Tt &t File Ag! avraT g, T
(a) it has high resistance / T8 3g IaUer g

(b) the body is earthed / &<I¥ aAFTHA & STAGE -II
g) there feﬂge)tf %re not good conductors of electricity / 37 U< fersref] « 10 FULL-LENGTH MOCKS { PART A)
(d) its feet are good insulators / 3 T¥ SEHATIELT &
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$11. Ans.(c)

Sol. Electricity flows along the path of least resistance. Birds don't get shocked when they sit on electrical
wires because they are not good conductors of electricity. Their cells and tissues do not offer electrons an
easier route than the copper wire they're already traveling along.

Q12. Which of the following is arranged in order of decreasing conductivity?

Faferiea % & F17 97 et Arerehar & 79 | saieyg T g2
(a) Copper, aluminium, steel, silver / F{UY, Q?{ﬁﬁﬁ'&'ﬁr, o, Fiar
(b) Aluminium, silver, copper, steel / l\lc'iy-lnl R, 7T, F9Y, T
(c) Copper, silver, aluminium, steel / FTIT, FT&T, TeH T, ¥
(d) Silver, copper, aluminium, steel / =T&T, FIIT, Q?{ﬁﬁﬁ'&'ﬁr, (A
$12. Ans.(d)

Sol. Silver is more conductivity then copper, copper is more conductivity then aluminium and aluminium
is more conductivity then steel.

Q13.If a copper wire is increased to double its length, its resistance will become
TfT T F T AT FATS T QX AT HE & AT 7, T IR e F=T GRIT2

(a) four times / ATL I[AT

(b) one-fourth / T& ATATS

(c) double / 3T AT

(d) half / sreT

$13. Ans.(c)

Sol. As a wire gets longer its resistance increases, and as it gets thinner its resistance also increases
because its cross sectional area decreases. Doubling the length will double the resistance, but the wire
also must get thinner as it is stretched, because it will contain the same amount of metal in twice the
length.

Q14. Superconductor is the conductor whose is zero

sfaaTrhar ag Hewex g oaer k]

(a) potential / &THqdT

(b) current / Fi&

(c) resistance / Ifarer

(d) inductance / STTASTIT

$14. Ans.(c)

Sol. At zero resistance, the material conducts current perfectly. This is incomprehensible because the
flaws and vibrations of the atoms should cause resistance in the material when the electrons flow
through it. In a superconductor, the electric resistance is equal to zero.

Q15. After long periods of use, a grey spot develops on the inside of a bulb. This is because

FAT FAATY F START F TS, ToF & HEL Tah T T T G a9 AT 3. Ig AT 3T § T 16

(a) the tungsten filament evaporates and collects / ZT&eA THaATHE ATIOTT BIAT & 3T THAT &f SATAT &

(b) the heat of the bulb scorches the glass at the top / =& #T THT ¢fi T 9T =T FT AT T

(c) dust inside the bulb condenses on the top / T & FTT gt of T} 9 ST g1 STt

(d) glass undergoes a change due to the heat / SEHT & T TATH | F&ATH ATAT &

$15. Ans.(a)

Sol. After long periods of use, a grey spot develops on the inside of a bulb. This is because the tungsten
filament evaporates and collects ther.
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Q16. Indicate the false statement about the resistance of a wire

AT & TIATe & T H S0 & AT T HAT T4 37

(a) It depend on material of wire / Ig TT¥ 3 ATHRAT 9 AT FaT ¢

(b) It is unrectly proportional to the length of wire / Tg TaGT T & TTL il AdTs % AT AITAF &

(c) It is directly proportional to the area of cross-section of wire / I8 TTX & FHIH-HFAT o HAAFA T He
AT &

(d) Resistance of metallic wire increases with increase in temperature / ITIHT # iz & ATT &1 & qATX

T TA2re I@av g
$16. Ans.(c)
Sol. Resistance of a wire is inversely proportional to the area of cross-section of wire.

Q17. For which of the following substances, the resistance decreases with increase in
temperature?

Raforiaa wart & & e araame § giE F qror wfade w9 g1 Smar 872
(a) Pure silicon / 915 faferia

(b) Copper / TtaT

(c) Nichrome / &R

(d) Platinum / wtfeqw

$17. Ans.(a)

Sol. Pure silicon resistance decreases with increase in temperature.

Q18. A transformer works on the principle of

T SRR 9 fAgia o< i w<ar 82

)a) self induction / T J=0T

)b) mutual induction / STTHET JoT

)c) generator / ST

)d) inverter / T¥aex

$18. Ans.(b)

Sol. A transformer consists of two electrically isolated coils and operates on Faraday's principal of

“mutual induction”, in which an EMF is induced in the transformers secondary coil by the magnetic flux
generated by the voltages and currents flowing in the primary coil

. Adda 247
winding. @ | Test Series
Q19. In AC circuits, AC meters measure HHB ALP 20 1 8
Ac wf¥e &, AC Hie =7 979aT 87
@ s / , € Stage-ll

a) mean values / 3 TS .

: 1 (Physics & Maths)
(b) rms values / fﬁ?ﬁllil T A 25 Total Tests
(c) peak values / AT v"10 Mocks for Part ‘A’
(d) mean square values / HT&T a3 HTT s v'5 Mocks for Part 'B' (Physics & Maths)
$19. Ans.(b) v 10 Practice sets for Part 'B'

(Physics & Maths)

Sol. In AC circuits, AC meters measure rms values.
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Q20. Magnetism in materials is due to

IECIIE DGR CETCE e i

(a) electrons at rest / SFIA T QAT

(b) circular motion of electrons / THFE(d Fl AT (A
(c) protons at rest / et &t fforar

(d) all neutrons at rest / FHT =i #T Fazar
$20. Ans.(b)
Sol. Magnetism in materials is due to circular motion of electrons.

Q21. Magnetism in materials is due to

IECIIC DGR CETCE e i

(a) electrons at rest / T2 T Rozar

(b) circular motion of electrons / Teral #¥ TAT I
(c) protons at rest / i+ it fforzar

(d) all neutrons at rest / Tt =i T feorar

$21. Ans.(b)

Sol. Magnetism is seen whenever electrically charged particles are in motion—for example, from
movement of electrons in an electric current, or in certain cases from the orbital motion of electrons
around an atom's nucleus.

Q22. The earth wire of a cable is connected to

T Fadl it oef q faad T gt 8

(a) the outer metallic body of the appliance / ST o SATET €T AT &

(b) the fuse of the appliance / ST % ST q

(c) the filament of the appliance / ST & [HATHE &

(d) short circuitry of the appliance / ITHIIT & 9T TRIT T

$22. Ans.(a)

Sol. The earth wire connects the appliance body to a metal rod / plate buried under the ground. The

neutral wire completes the circuit and carries current away from the appliance. The third wire, called the
earth wire (green / yellow) is a safety wire and connects the metal case of the appliance to the earth.

Q23. Tungsten is used for the manufacture of the filament of an electric bulb, because

A FT ITANT AT dod & (harde & utor & forg e stmar g, =ifs

(a) itis a good conductor / Tg TF TATAF 5

(b) it is economical / 7g FFHTAT &

(c) itis malleable / 7§ AHT &

(d) it has a very high melting point / 3F == &g &

$23. Ans.(d)

Sol. Pure tungsten has some amazing properties including the highest melting point (3695 K), lowest
vapor pressure, and greatest tensile strength out of all the metals. Because of these properties it is the
most commonly used material for light bulb filaments.
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Q24. The device which converts AC to DC is

I S AC &t DC § ufafda w<ar g?

(a) oscillator / sfEhrerex

(b) simplifier / FEFI=HRT

(c) rectifier / TEHITHIAT

(d) None of these / T8 H IS ol

S$24. Ans.(c)

Sol. A rectifier is an electrical device that converts alternating current (AC), which periodically reverses
direction, to direct current (DC), which flows in only one direction. The process is known as rectification,
since it "straightens" the direction of current.

Q25. Which of the following metals is used for the manufacture of heating elements provided in
electric iron?

T s S | Yo g 1w gifér aat & fFator & forg Raffea § 9 19 o argett 1 SenT frr smar
8?

(a) Nickel / et

(b) Chromium / FT{8aH

(c) Nichrome / &

(d) Tungsten / 23&a

$25. Ans.(c)

Sol. Nichrome wire is an alloy made from nickel and chromium. It resists heat and oxidation and serves
as a heating element in products such as toasters and hair dryers.

Q26. Electrostatic precipitator is used to control the pollution of

TATFIE o AL T TEAATA sgwor 1 AR e & forg B st 82
(@) air /a1g

(b) water / STt

() noise / &=t

(d) thermal / ST

$26. Ans.(a)

Sol. Originally designed for recovery of valuable industrial-process materials, electrostatic precipitators
are used for air pollution control, particularly for removing particles from waste gases at industrial
facilities and power-generating stations. @ ‘

Adda 247
Test Series

Q27. Tape recorder should not be kept near one of the following
things

27 Rt at afafed 7 @ e F @ 738 @1 ST FnRe?

(a) clock / ==t

(b) magnet / ¥
(c) electrical switchboard / Tifaea ffa= e STAGE -l
d) radio / ¥f=AT
527, Ane.(b) « 10 FULL-LENGTH MOCKS ( PART )
Sol. Tape recorder should not be kept near magnet.
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Q28. Which of the following is a good conductor of heat but a bad conductor of electricity?

TTH A BT 9T SEAT HT GATAF § AT {aIoTell HT FATAR &7

(a) Celluloid / #=gT=E

(b) Rubber / TaE

(c) Asbestos / 338

(d) Mica / 19+

$28. Ans.(d)

Sol. Mica is a bad conductor of electricity (very good insulator), but it is a very good conductor of heat.

Q29. A photostat machine works on

T hiereee A9+ e g o< w1 w7t 82

(a) electromagnetic image making / =@ TFahi T Ffer 9T

(b) electrostatic image making / TFEIEE[Eh i TATH

(c) magnetic image making / Jah1 T i a9

(d) thermal image making / o9 g a=m+

$29. Ans.(b)

Sol. All Electrostatic Copiers work under the premise that a charge of electricity is place on an Image
Drum which has the ability to retain the electric charge much like a capacitor holds its charge but with
the ability to hold or release the charge depending on how much light and darkness is applied to the
Image Drum. A photocopier (also known as a copies of documents and other visual images quickly and
cheaply. Most current photocopiers use a technology called xergorahpy. A dry process using heat. Copiers
can also use other technologies such as ink jet, but xerography is standard for office copying.

Q30. Lightning is caused due to

afsa F ¥ For AT 32

(a) electric power / fa=a ar<h

(b) electric discharge / farstett &1 fFag"

(c) electric leak / ﬁ%’cf ECIE)

(d) electric pressure / faste(t T TaT4

$30. Ans.(b)

Sol. Often lightning occurs between clouds or inside a cloud. But the lightning we usually care about most
is the lightning that goes from clouds to ground—because that's us! As the storm moves over the ground,
the strong negative charge in the cloud attracts positive charges in the ground (Lightning is caused due to
electric discharge).

Q31. A periscope works on the principle of
T IREnT e fRrgia T Far 87

(a) refraction / saaa+

(b) total internal reflection / T AAF T taa
(c) diffraction / A&

(d) reflection / Sfafaer

S$31. Ans.(d)

Sol. A periscope works on the Laws of Reflection which states that the light from the object falls on one
mirror at a 45° angle from the object and is reflected.
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Q32. Which one of the following lenses should be used to correct the defect of astigmatism

AT F AW FT HiF w7 F o Rt & & o9 & S w1 ST gt sar =fge?
(a) Cylindrical lens / SeHTHRIT &

(b) Concave has / ade =&

(c) convex lens / 3T =&

(d) Bifocal lens / ATTHIFHA oq

$32. Ans.(a)

Sol. Astigmatism requires an additional "cylinder" lens power to correct the difference between the
powers of the two principal meridians of the eye.

Q33.In alaser (say neon laser) all the atoms emit the light waves of
T A9 ® (At @) avfy aemop wehrer a0 & Scfoia i &-

(a) Same frequency / FHTT ﬂl’q’%

(b) Same amplitude / FHTT AIATH

(c) Same phase / AT 900

(d) All the above / 7Tg T4t

$33. Ans.(d)

Sol. In a laser (say neon laser) all the atoms emit the light waves of same frequency, same amplitude and
same phase.

Q34. ‘Short-sight’ in human eye can be corrected by using proper
AT At 7 ‘R 3 v 1 STt w3 a5t BT ST aswar 82

(a) convex lens / 3T &

(b)concave lens / TadT &9

(c) cylindrical lens / SSATHTT A&

(d) bifocal lens / STSHIFHS &
S$34. Ans.(b)
Sol. Short-sight’ in human eye can be corrected by using proper concave lens.

Q35. Fibre optics work on the principle of @ | Adda 247
wrEa st fmy Rgia = #ar §2 Test Series
(a) scattering of light / SahTeT YhTOTA HRB AI_P 20 18
(b) total internal absorption / <1 AT AT
_ _ . Stage-li

(c) total internal reflection / T ATAF T faa .

| N (Physics & Maths)
(d) optical rotation / Sfifcasher TrEerT 25 Total Tests
$35. Ans.(c)

. . . . . L v"10 Mocks for Part ‘A’
Sol. The optical fibre is a device which works on the principle of total RV R a R - R G A D)

internal reflection by which light signals can be transmitted from one EZEA4EEIEEESER IR
(Physics & Maths)

place to another with a negligible loss of energy.
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Q36. Energy of ultraviolet rays is greater than

TRTHT T Y St e & arfden &7

(a) infrared rays / 3ta<<h fzoTt

(b) gamma rays / 19T fT0t

(c) X-rays / THFI-T

(d) cosmic rays / FETTE A Tt

$36. Ans.(a)

Sol. Electromagnetic spectrum is classified into according to the frequency of the wave: these types
include, in order of increasing frequency, radio waves, microwaves, infrared radiation, visible light,
ultraviolet radiation, X-rays and gamma rays.

Q37. Stars appear twinkling because of ....... of light.

A wwr F FIT THFA gC fams Q52

(a) reflection / gfafda

(b) scattering / JETeT ThTuTT

(c) emission / IS

(d) asbsorption / sraeTTeT

$37. Ans.(b)

Sol. When light passing through our environment, the dust, air and other particles cause scattering of

light. Due to which the position of star appears quite different and sometime light entering our eyes, due
to scattering, become brighter and deemer.

Q38. In mirrors, the back surface is coated with a thin layer of

YT §, faeet aag FT gt 9T F 9T AT It | ?

(a) mercury / 91T

(b) silver / ==t

(c) red oxide / AT AFATES

(d) silver nitrate / ffia< AT522

$38. Ans.(d)

Sol. In mirrors, the back surface is coated with a thin layer of silver nitrate.

Q39. An optically regular plane surface reflects a beam of light

T sfeesctt Raffa aaae aag Tmer it S w1 Jafa e Far g

(a) as a parallel beam in one direction /T fZeT § FHETTL 19 F T H

(b) as diffused beams in all direction/&¥T ferrsti # g fiw & T H

(c) as parallel beams in all direction/&¥T fZermsii H FHEGE 19 F T H

(d) as a different beam in one direction/T# 9T # U T ¥ F =T H

$39. Ans.(a)

Sol. a parallel beam of incident light is reflected as a parallel beam in one direction. In this case, parallel
incident rays remain parallel even after reflection and go only in one direction and it occurs from smooth
surfaces like that of a plane mirror or highly polished metal surfaces.
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Q40. Who measured the velocity of light first?
TEAT AT T T AT e AT Aq17?
(a) Galileo / frefifer

(b) Newton / =g&

(c) Roemer / THY

(d) Einstein / sre&d

$40. Ans.(c)

Sol. Measuring the Speed of Light with Jupiter's Moons. The first real measurement of the speed of light
came about half a century later, in 1676, by a Danish astronomer, Ole Romer, working at the Paris
Observatory.

Q41. What is the wavelength of visible spectrum?

39T TaeH FiT TETee] FT §

(a) 1300 A to 3000 A

(b) 3900 A to 7600 A

(c) 7800 A to 8000 A

(d) 8500 A to 9800 A

$41. Ans.(b)

Sol. The visible spectrum is the portion of the electromagnetic spectrum that is visible to the human eye.
Electromagnetic radiation in this range of wavelengths is called visible light or simply light. A typical
human eye will respond to wavelengths from about 3900 A t07600 A.

Q42. An electron microscope gives higher magnification than an optical microscope, because

T TAFLI ATEHIEHIT Tk Al (ool ATHHIERTY bl gorT § IF el ar g, T

(a) it uses more powerful lenses / Tg SATEF TTRIATAT AH FHT ITANT HLAT &

(b) the velocity of electron is smaller than that of visible light / ZeiaFai ¥ 3T F9T THTL T NEEL qEErg
(c) the electrons have more energy / Toai=i § TTerF Foll gt %’

(d) the wavelength of electrons is smaller as compared to the wavelength of visible light / ¢ JahTer #T
TTeed &l TAAT H SeFaidl nl a0 o84 el g

$42. Ans.(d)

Sol. An electron microscope gives higher magnification than an optical microscope, because the
wavelength of electrons is smaller as compared to the wavelength of visible light.

Q43. The mass-energy relation is the outcome of @ ‘ Adda 27 e
1

AT-So11 gael fFe &7 AT §

(a) quantum theory / Few fFrgia

(b) general theory of relativity / HTIeTdT T ATHTT fHgid
(c) field theory of energy / &=iT & &= f&rgia

(d) special theory of relativity / &TTeTaT T e Rrgia
$43. Ans.(d) STAGE -1l

Sol. Energy and Mass Are Relative. The equation E = mc? (special . _
theory of relativity) states that the amount of energy possessed by an 10 FULL I's (PART )

object is equal to its mass multiplied by the square of the speed of light.
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Q44. A simple microscope consists of

T |TETIT ATSHIERT g § TATgarg?

(a) a short focus convex lens / T oTH FRlHH ATAT ITA s

(b) a long focus convex lens / T &e ®IH ATAT IAA A H

(c) a short focus concave lens / T& @ RIHE aTAT AAqAA @G

(d) a long focus concave lens / T& e HBIFE ATAT TTqA A

S44. Ans.(a)

Sol. Simple microscope is used for observing magnified images of the objects. It consists of a short focus
convex lens.

The magnifying power of simple microscope can be determined in two cases. When the final image is
formed at least distance of district vision (D),

ThenM=1+?

When the final image is formed at infinity, the M = ?

Where M = magnifying power
D = distance of distinct vision
f = focal length of the lens

Q45. The speed of light with the rise in the temperature of the medium

ToReT ATETH % qTIwTE § gig F 9T Hrer ¥ T
(a) increases / T&dT ¢

(b) decreases / IdT

(c) remains constant / HTHTT L&t %

(d) drops suddenly / sr=T9=* AT g
$45. Ans.(c)
Sol. Speed of light does not depends on the temperature. It is a constant which is denoted by 'c'.

Q46. Which one of the following is used for sun glasses?
T & AW & (T ST/ F FT 97 SR QT srar g2

(a) pyrex glass / QTS TATEH

(b) flint glass / f¥eie e

(c) Crooks glass / & 719

(d) Crystal glass / foeeet wome

$46. Ans.(c)

Sol. Crookes glass mainly cerium oxide (CiO;) is present which sharply absorbs the ultraviolet rays from
the sunlight so utilised in making lenses of eye glasses.

Q47. What is viewed through an electron microscope?

T TAFSI HISHIERIT & ATEAHT & FAT @T AT THhaT g2

(a) Inside of the human eye / HTH 1@ F X

(b) Structure of bacteria and viruses / SEFEITEAT 3T ATIATH FT &A1
(c) Inside of human stomach / 9199 U< & &<

(d) None of these / T8 H &< gl
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$47. Ans.(b)

Sol. The electron microscope is a type of microscope that uses a beam of electrons to create an image of
the specimen. It is capable of much higher magnifications and has a greater resolving power than a light
microscope, allowing it to see much smaller objects in finer detail.

Q48. Which combination of colour is the most convenient during day and night time?

B AT HI AT FI AT iR T F 997 F IR g9 giaemse+ g7
(a) Organe and blue / AT 3T T

(b) White and black / T%g T FTeAT

(c) Yellow and blue / F19T 3 =T

(d) Red and green / @7 3fi¥ 22T

$48. Ans.(d)
Sol. Red and green colour is the most convenient during day and night time.

Q49. The blue colour of water in the sea is due to

T | T 7 A1 31 i F Freor gar g

(a) absorption of other colours except blue by water molecules / 9THT & 31'0:[3ﬁ' FIRT AT T &l GISHT AT
T T AL

(b) scattering of blue light by water molecules / T = STU[sT GTT et TrereT it faaw

(c) reflection of blue light by impurities in sea water / THg & 91T # ST[fe a1 gTT oAt TrereT &1 Sfafaer
(d) reflection of blue sky by sea water / 9= % T AT AT & Jfafaa

$49. Ans.(a)

Sol. The ocean looks blue because red, orange and yellow (long wavelength light) are absorbed more

strongly by water than is blue (short wavelength light). So when white light from the sun enters the
ocean, it is mostly the blue that gets returned.

Q50. Rainbow is seen after rain because of hanging molecules of water which act as
TR AT & ATE I@T ST §, TS qTT o6 I STUH F FIROT AT S F FTH F1d L @
(a) lenses / <&

(b) prism / fos7 @ | ‘?';;at 2Siries

(c) mirrors / 0T

(d) slabs / &t& RRB AI.P 20 18
$50. Ans.(b) Stage-Il

Sol. Rainbow is seen after rain because of hanging molecules of water (Physics & Maths)
which act as prism. 25 Total Tests

v"10 Mocks for Part 'A'
w5 Mocks for Part 'B' (Physics & Maths)
v~ 10 Practice sets for Part 'B'

(Physics & Maths)
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